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That there is liquid on the meat — W2 5772 PR NDINT

OVERVIEW

Our mwn teaches that they would burn 2°w7p which are a 7Rmv? PRI together
with 2°w7p which are a XY *w*w even though the *w°%w will become a *1w. The
8 mx asked that according to X1°27 who maintains that 921X is not 7218 Xavn (even
by 2°w1p) so the 5w w32 will not become XY from the NWRI w2 (since P2IX PR
D01 Xnwn). The X mx answered that there was liquid on the WX w3, so the liquid
is also a XMWY NwXA,' and this liquid which is a MR will make the *w*>w w1 into
a "1v. The npwn is Xnvn the H2R. Our Moo discusses various rules concerning
TRYR NRM.

= Y2910 NN RNIVN PPYNT TUN Ja PNXY 11929 PTPT1I INON
The X''2°1 infers from this X723 that 1PXn0 PP can be 701X Xuwn even if there

1s less than a n 29 of oxnw PWnH.
- YA )N Y YA S THAT PPYN ONoY

For presumably the 1pw» which is on the meat is not a n°y°a9, and nevertheless
the X3 here assumes that it will be &nvn the *w oW w2 —

The &'"2" offers an additional proof:
- DNV P29 MND YAN *091 532 1IN M) (3,1 47) MPN

And later, X955 17 also said regarding water, ‘however if it is less than a nsy>a9
they are 28%w’.

Mmoo anticipates a difficulty:
= %1292 PPPYN NNV NNIVNT TOI 122 22) (0w n,x9 9109t may) P71 PR P992 99NRT NI

And that which X3°n2 32 7770 ' 01wn 1301 ' 9K SOK M states in PT7ORYR PR OB,
regarding 701 1°° that 21% ano is Ppw» nRPMW KRB#w» if it contains a myan;’
indicating that less than a N°¥°27 is not 7"PW» NXNIY XYY —

"It touched the xm107 2K together with the Twa.
? The Xn"™a there stated that water which is in the ground is 7770, 895 27 commented that this is true only if there is
at least a n°y>27 of water, since it is fit to be 9201 needles in those waters, however less than a n°v>27 is Xnv. See "M
there 92K 1"7. It seems that N1901N maintains that 7"XAY means PRALM PRAV.
? 01 ono means wine which was in the possession of a 1, but we are unsure whether he poured it out for "av. See
'0In there Xnwm 7"72 2,2 that according to >"wA (on Xnwum) 7"7 X,X?) this means that if 01 ond touched a YW this 1 is
N Y272 7pwn DRMY Xnuvn. However n1vo1n disagrees and maintains that 21> ano are nN°y°272 X»wun (even if the 1 never
touched xmD).
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An additional difficulty:
- PNNT NN *PYPN BT 233 (3,004 D17 72 PO

And in the second P92 of 7771 N2on regarding green blood, and in many places it
seems that 7pwn NXMY is only N°¥°272, and not as the X"2* inferred from our X 73,

nv0IN answers:
- Y5292 INPIUT 399N “N1999) ID9T TUN )32 PN 1A N

The X''23% says that those NM17n3, which indicate that 7pwn NX™IV is N°Y°2173, are
discussing invalidating the body (making X»nv the body of a person who drinks

these 1pwn), which the amount required to be Xnvn a person is a N2 of mpwn -
= 145392 NN DAY PO9V8N DIPWNN DT (3,0 97 NAMI SYWTP P92 NDIYNI 9INTD

As the m1wn states in 579°p» noon in mama swTp P that all the liquids can be

combined for a n%y29 in order to invalidate the body. However for the mpwn to be
991X Xnun only a minimal amount is required (not a nN°¥°27) as is evident from the &3 here.

mooin offers an alternate solution whether a n°y°217 is required or not:
= NPIIINT IND ARNIV 99087 791293991 579929 139927 NNT W91 PNHY 139299

And the ' explains that when do we require a n°»29 to be Xnv» that is only

by those 1P whose main X210 is not XnIRT -
- RPN XNVH KY NOY2IN 192 Iax1 791950 01 *ooma ') ono s

For instance 21 an® of 2°n1> and the 957 27, where even if it contains more

than a nowe21 it is not XN™INTR RMWM therefore when the omon were AW N> they
limited it to a N°¥°27 or more
- NINY 993 ONNMNINT PPUN INY YaN

However other Ppw» which are Xn»=m87» X1, they are X»vn with a miniscule
amount and do not require a N°y°27.

mooin offers yet another distinction:

* The xn>2 which states that ar aPWA is DY 202 RAvA is in 2,71 7.
5 1" there is stating that if a woman saw (regular) 07 (and became a 7771 or a 7727) and then saw P17 07, the P17 o7
should also be Xnvn like a1 7pwn (the urine or saliva of the a1 are Xnun). See footnote # 4.
®A person can be 811 2P only from an ARML7 X like a 79°21 or N XMV (or ARMLI NAR °2X, the nn), however it
cannot be XML 22pn from P2 or PPwn which became Xnv. However the o2om were O3 (in the 727 1) that if a
person eats or drinks 7"Rnv Ppwn the person becomes &nv. This XML requires that he drinks a npwn nvyaA.
7 See footnote # 3.
¥ p'ma were 0 who 27m10 brought to *"x where they were 7»ann. Eventually however they did not keep ¥"»n and
the o°»om considered them as 2”1,
? See footnote # 5. See “Thinking it over’ # 1.
10 The 1Pwn here which touched (together with the Tw32) an 7XMYIT AR is RN7KTA KXY, therefore it can be Xnwvn even
N°Y 277 NndA.
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- 1N NPVY 799939 19993 RIPINNTAT N BN 19929

And the n''9 says that Xn>9I872 a nsyean is required to be X»u» others -
- NINVY Y53 09NN NHLN 1929719 YAN

However 33377 the 1"Pwn can be X»un others even with a xR 93.'

Moo responds to an anticipated difficulty:
= 192919 199N DIIN NNV DIINY AINYIN PI0N NI RNYNT 91D 7998 11999

And according to the s'n"7 interpretation it will be necessary to say that at this
point (where the X713 establishes our 7iwn by w1 >772 PPwn), it did not enter the

mind of the X3 that %218 can be Y218 X»b» even 31a9772; rather the X1m3 now
assumed that 921X can never be 721X Xnun even 112777,

mdoIn proves his point:
= 12291 131",7\0):2 NIPIND TPI0YNTI

Since it was necessary to establish the 71wn that there was w2 >772 Ppwn where

this pwn can be Rnvn the "W %Y w2 only 333971 (since there is no n°y°27 on the pwn

w32 *7772, as mentioned earlier) -
= 132979 DOIN NPV YIINT NIPDII »710 XD

And the X3 did not instead establish the 71wn that the WX w21 touched the w2

oW for ®2IN is 33277 ©2I8 NMWR, this is a more reasonable interpretation of the mawn.
Therefore we must conclude that at this point (when we establish the 7iwn by w2 772 Ppwn), the
X3 assumed that 923X is not 921X Rhav» even 132777 so the only choice left, was to say that X2°X7
W2 °T02 PRYnN.

Moo responds to another anticipated difficulty:'*
= 19299 1929N DOIN NPV YN PNT 23 Y GN)

And even though that 21X X%u» 9218 18 even 332772 -

""However 1Pwn can become X1Y even by less than a n°¥°27 (but they cannot be Xnwvn others XnN»7XTH).
"2 [1t seems that the n"- is making an independent statement, but is not trying to reconcile the various mamx
mentioned here. 01* and which is not a XN™MXT AX%MW only a 71277 AXMY should not require a N°¥"27 since 12777
there is no requirement for a (27X XY?) N°v*27.] See [however] 7o WX who explains that the n"3 agrees with the
"9 that Ppwn that have no Xn»R7 p°v (like 01 ano) are &nvn only N°¥°273, however regarding PRV TPWH
Xn»7X71 he disagrees with the *" and maintains that they are n°¥°27n nda XA only j12777A.
" This explanation is a difficult one as the X723 eventually refutes it.
' We interpreted the 73wn to mean that they burnt a *w*>w together with a PwX". The question is how is it possible to
become a "wow. We are now saying that 721X is not 9238 Xnvn even 1127172, There is another rule 112777 that 1pwn
which become Xnu become automatically a 7WwR1 (see [however] footnote # 19). So how can we have a "w%w; even
if food touched a xnWYH WK (a person who touched a yow) and became a *w, they can only be Ppwn Xnvn (since
1127771 “OR DI Xnvn PN 1K), which will remain a WX (for PRV PRPWH always become a NWXI), so how can there
be w2 which is a "w7w?! See ‘Thinking it over’ # 2.
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- ¥n3125 Poosy 915 Yy HwrHY Xanawn YN Yan
Nevertheless we can find'’ a sw>w through wood or 71125 -
119NN NNY PPYN RNVN HMAND NX TDIDN Y97 191 XY INIRT FPpun 31 Yy IN
Or we can find a *v>v through pwn, for (even though the o°»o1 were N that
TPWH can be N°Y'172 NIND2 Xnvn, nevertheless) the 2°1O7 were not yet =1 that
whatever disqualifies 572190 is PP X»wn to become a PMWRA.

SUMMARY

The X"2°7 maintains that PRV Pwn can be Xnvn even if they are n°v»27n nno.
However to be &nun the person who drinks them it needs to be a n°y°21.

The °"7 maintains that pwn which are Xn»7IR7H KAWL can be Xnvn even NINo2
n°y27n, however 7Pwn which have no Xn»™MR72 p°y (like 01 and), require a
n°y°27 to be Rnvn.

The n"9 maintains that XN™MXTY a PPwn Y27 is required to be 20X Xnvn,
however 112777 it can be Xnvn even N°y°27n NINdA. According to the n"7 there can
be a wMpa *w oW either through 11291 0°x¥y or before the 77°13 to make pwn a NWRA.

THINKING IT OVER
1. Why does mpon consider™ 1771 27 to be Xaw only 13277227

2. nmoon discusses how there can be a wWTIP2 “WOw (since we now assume
(according to the n"™) that Y23 Xnun 92 PR.*> Why did not mpoin ask that
according to 727X 92 X7X 27 (who maintains that by 72170 the rule is Xnavn 70X PR
90X) what is the wY7°n in the miawn that they burnt aX»w7 QY 770 770, since PR
HIIR RALA 2R even 1277, so the TNV TN is not IRy 23pn? 1%

5 This refers to the wood of the 75y» which was used to burn the nM337p.
16 9125 is the frankincense which is added to the mman.
' ey and Anab are not 921, but nevertheless because of WP nan they can be v 2% and be Xnun like 21, but since
they are not actually 721 they can be 951 ®nwn (or 7pwn). The case of *w*2w would be if a person (or °23) who was a WX
touched the 0°%¥ or 11122 (which become a 1) and they in turn touched w7pn w3, which makes the w32 a whw.
'8 The WX (whether a person, a 23, or 921X) touched 1°pwn (which becomes a *w [since it is before the 771 of 9
72910 DYAR PRWR Xnvn annna nR Y01w:]), and the apwn touched the wIpn w2 which becomes a “woHw.
19 A axmw5 1w which touches 7m0 renders the 7m0 to become 109 (it is a AXMYY *w*>w and it needs to be burnt),
however this 72170 cannot be Xnvn further. Any X, which is a "1 or higher (a W), when it touches 1pwn, the
TPWwn becomes a (112777) PWRA, not a WY (or a "Iw).
0 See (the text by) footnote # 9.
*I'See (1 MK P 'o P 1"VAR) PR a2 0w
22 See footnote # 14
2 See TR X"wAN.
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